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극미세영문법

개인별모의고사

1 다음 짝지어진 두 문장의 뜻이 같도록 빈칸에 알맞은    
    말을 넣으세요. 

① Andy is too young to watch adult movies.

   = Andy is                                 watch
     adult movies.

② Mike was too busy to exercise regularly.

   = Mike was                                 
     exercise regularly.
 

③ I am so tired that I can’t study now.

   = I am                           study now.

2 짝지어진 두 문장의 뜻이 같도록 빈칸에 알맞은 말을  
    넣으세요.

① He is so obese that he can’t buy a trendy jacket.

   = He is                         a trendy jacket.

② I am too shy to talk with the pretty woman.

   = I am                     talk with the pretty
     woman.

③ Alice was attractive enough to draw every boy’s 
attention.

   = Alice was                              draw
     every boy’s attention.

④ The task is so dangerous that you can’t do it.

   = The task                             do.

⑤ Mike is so brave that he can fight with a robber.

   = Mike is                             fight with a
     robber.

⑥ She was so sleepy that she couldn’t hit the books 
any more.

= She                      the books any more.

⑦ Andrew is active enough to participate in all kinds 
of sports events.

   = Andrew is                               
     participate in all kinds of sports events.

⑧ The math problem was too hard for him to solve.

   = The math problem                            .
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1                
① so young that he can’t

② so busy that he couldn’t 

③ too tired to

2 [정답] 
① too obese to buy 

② so shy that I can’t

③ so attractive that she could

④ is too dangerous for you to

⑤ brave enough to

⑥ was too sleepy to hit

⑦ so active that he can

⑧ was so hard that he couldn’t solve it 
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